
01

∆ = 1
V = 1

31

∆ = 1 − t + t2

V = −q−4 + q−3 + q−1



41

∆ = 1 − 3t + t2

V = q−2 − q−1 + 1 − q + q2

Achirale

51

∆ = 1 − t + t2 − t3 + t4

V = −q−7 + q−6 − q−5 + q−4 + q−2



52

∆ = 2 − 3t + 2t2

V = −q−6 + q−5 − q−4 + 2q−3

−q−2 + q−1

61

∆ = −2 + 5t − 2t2

V = q2 − q + 2 − 2q−1 + q−2

−q−3 + q−4



62

∆ = 1 − 3t + 3t2 − 3t3 + t4

V = q − 1 + 2q−1 − 2q−2 + 2q−3

−2q−4 + q−5

63

∆ = 1 − 3t + 5t2 − 3t3 + t4

V = −q3 + 2q2 − 2q + 3 − 2q−1

+2q−2 − q−3

Achirale



71

∆ = 1 − t + t2 − t3 + t4 − t5 + t6

V = −q−10 + q−9 − q−8 + q−7

−q−6 + q−5 + q−3

72

∆ = 3 − 5t + 3t2

V = −q−8 + q−7 − q−6 + 2q−5

−2q−4 + 2q−3 − q−2 + q−1



73

∆ = 2 − 3t + 3t2 − 3t3 + 2t4

V = −q9 + q8 − 2q7 + 3q6 − 2q5

+2q4 − q3 + q2

74

∆ = 4 − 7t + 4t2

V = −q8 + q7 − 2q6 + 3q5 − 2q4

+3q3 − 2q2 + q



75

∆ = 2 − 4t + 5t2 − 4t3 + 2t4

V = −q−9 + 2q−8 − 3q−7 + 3q−6

−3q−5 + 3q−4 − q−3 + q−2

E’ equivalente al diagramma (Rolfsen) tramite
una mossa “flype”

76

∆ = 1 − 5t + 7t2 − 5t3 + t4

V = q − 2 + 3q−1 − 3q−2 + 4q−3

−3q−4 + 2q−5 − q−6



77

∆ = 1 − 5t + 9t2 − 5t3 + t4

V = q4 − 2q3 − q−3 + 3q2 + 3q−2

−4q − 3q−1 + 4

r(71)

∆ = 1 − t + t2 − t3 + t4 − t5 + t6

V = q3 + q5 − q6 + q7 − q8

+q9 − q10



82

∆ = 1 − 3t + 3t2 − 3t3 + 3t4

−3t5 + t6

V = 1 − q−1 + 2q−2 − 2q−3 + 3q−4

−3q−5 + 2q−6 − 2q−7 + q−8

K11n34

∆ = 1
V = −q4 + 2q3 − 2q2 + 2q + q−2

−2q−3 + 2q−4 − 2q−5 + q−6

Conway knot



K11n42

∆ = 1
V = −q4 + 2q3 − 2q2 + 2q + q−2

−2q−3 + 2q−4 − 2q−5 + q−6

Kinoshita-Terasaka knot

L6a4

∆ = (u − 1)(v − 1)(w − 1)
V = −q3 + q−3 + 3q2 + 3q−2 − 2q

−2q−1 + 4



r(31#31)
∆ = (1 − t + t2)2

V = (q + q3 − q4)2

Nodo della nonna

31#r(31)
∆ = (1 − t + t2)2

V = (q + q3 − q4)(−q−4 + q−3 + q−1)

Nodo quadrato


